v B R OKR OF B K % EHELETEMRLEERR
FFE |FrE| €8 xXE B F 5 BES ’
i B K ER FR265%E4818
13 11| o1 000000 000
EHEEEERNR
¥X2ARAMTRE. HEZILWLWHALE WSS 2AFEFHERAS208
EA%AHE TR2F4A1E %A - AEOSI &p- am
BEEXHIAE (R1) B B - mEELE - zomEas| S/%YA | A8 X* A
] 1818 »3| 2818 A3 3A1EB A5 ]
EEEHM 5
18318 F<| 2828 =E=<| 38318 =T
(A ) WA 31 A 28 A 31 Bl® 90 =]
g ﬁﬁﬂf{ EAXES 200, 000 0m 200, 000 [ 400, 000 [
=
DRI BEH Fy 20, 000 20, 000 20, 000 60, 000
£oTX
hot-t| g | Bk F4 10, 000 10, 000 10, 000 30, 000
D % 0
0
£t 230,000 30,000 m 230,000 m|@ 490, 000 /
) 1A1H8 his 28181 hisd 3A1H hisd _
E4tEHM =
1B31B ZF<T| 2H28H Z7T| 3A31IH T
(B ) N =E 31 = 28 = 31 B|® 90 B
B%& L < EI=E 20 0 23 43
FEMR 18 B B Go = a(® (63 =
TH XS HERXEE = M =] 0m
SRR ) :
mwo=a B Fu 28,780 0 25, 902 54, 682
HIZk o
TXiho| & 0
Y= 30)) & 0
0
H 28,780 M 0m 25,902 m|@ 54,682 M
10 5t 258,780 m 30,000 F 255,902 m|® 544682 m
EES kg oY (6) 544,682 M + BAEKD 90 = 6052m 2 8

REREFHEEOHESZE (s30.5. 24@EICL D)

BEFL - KEFZ 90,000--90=1, 000

(MXRBEHRBHTKRY)

BHEFY 54,682+-43x60/100=763F (MZ#EHEEHBERTRL, 0.6%FT3)
HEAEE 600, 000+-63x60/100=5, 7T14M288% (AEZ (T HNEHEEMEFHAKTRLO.62FT B)

a&t 7,47T7TH04%%




